
1. Determine the solution of 4 cos 𝑥 − 2 = 0 for 0 ≤ 𝑥 < 2𝜋, then write the general solution.  

 

2. Determine the solution of 5 csc 𝑥 + 7 = 0 for 0 ≤ 𝑥 < 2𝜋, then write the general solution.  

 

3. Determine the solution of 2 𝑡𝑎𝑛2 𝑥 + 3 𝑡𝑎𝑛 𝑥 + 1 = 0 for 0 ≤ 𝑥 < 2𝜋, then write the general 

solution.  

 

4. Determine the solution of 2 sin 𝑥 cos 𝑥 = 3 cos 𝑥 for 0 ≤ 𝑥 < 2𝜋, then write the general solution.  

 

5. Determine the solution of cos 2𝑥 =
√3

2
 for 0 ≤ 𝑥 < 2𝜋, then write the general solution.  

 

6. Determine the solution of cot (
1

3
𝑥) − 5 = 0 for −2𝜋 ≤ 𝑥 < 2𝜋, then write the general solution.  

 

 

Answer:  

1. 𝑥 =
𝜋

3
,

5𝜋

3
,   GS:  𝑥 =

𝜋

3
+ 2𝜋𝑛,

5𝜋

3
+ 2𝜋𝑛  𝑛 ∈ 𝐼 

 

2. 𝑥 = 3.94, 5.49,   GS:  𝑥 = 3.94 + 2𝜋𝑛, 5.49 + 2𝜋𝑛   𝑛 ∈ 𝐼 

 

3. 𝑥 =
3𝜋

4
,

7𝜋

4
, 2.68, 5.82,   GS:  𝑥 =

3𝜋

4
+ 𝜋𝑛, 2.68 + 𝜋𝑛    𝑛 ∈ 𝐼 

 

4. 𝑥 =
𝜋

2
,

3𝜋

2
,   GS:  𝑥 =

𝜋

2
+ 𝜋𝑛   𝑛 ∈ 𝐼  

 

5. 𝑥 =
𝜋

12
,

11𝜋

12
 ,

13𝜋

12
,

23𝜋

12
,   GS:  𝑥 =

𝜋

12
+ 𝜋𝑛,

11𝜋

12
+ 𝜋𝑛  𝑛 ∈ 𝐼  

 

6. 𝑥 = 0.59,   GS:  𝑥 = 0.59 + 3𝜋𝑛   𝑛 ∈ 𝐼 


